45-0502C




ApTtukyn Caiman

HanmeHoBaHue

=
o
=

1 |U502C-0001 baK nnacTMKoBbLIN ANA peareHToB 1
2 [U502C-0002 Tpoc peryanpoBKu pacxoa peareHToB 1
3 |U502C-0003 T-06pasHan pyKoaTKa 2
4 |U502C-0004 PyKkoATKa pe3nHoBas 2
5 U502C-0005 [TonepeyHasa nnaHKa 1
6 |U502C-0006 Onopa 1
7 |U502C-0007 Pama 2
8a |U502C-0008 MpnBoAHOE KOeCco C NOALWMMHUKOM 1
8b |U502C-0009 Begomoe Koneco ¢ NoAWnnHUKOM 1
9 |U502C-0010 Ocb Kosiec 1
10 |U502C-0011 Ban pasbpacbiBaTens co 38e3404KoM 1
11 |U502C-0012 KpblnbyaTtka 1
12 |U502C-0013 Koneco peayKkrtopa 1
13 |U502C-0014 Kopnyc perynatopa pacxofa peareHToB 1
14 |U502C-0015 Pblyar perynatopa pacxoga peareHTos 1
15 |U502C-0016 OnopHadA NaacTmHa 1
16 |U502C-0017 3acnoHKa 1
17 |U502C-0018 Hanpasnawowan 3aCIOHKK 2
18 |U502C-0019 Konnayok KpensieHna Koneca 2
19 [U502C-0020 BTynka ocu nnactMkosas 2
20 |U502C-0021 BTynKa peayKTopa naacTuKoBas 1
21 |U502C-0022 BTynka 6aka nnactukosas 1
22 |U502C-0023 BTynKa Bana naacTnkosas 1
23 |U502C-0024 LLlan6a 6-yronbHas 2
24 [U502C-0025 Brynka 15x20 2
25 |U502C-0026 Brynka 11x10x1.5 2
26 [U502C-0027 Brynka 7x10x1.5 2
27 |U502C-0028 3arnylwKa pambl N1aCTUKOBasA 2
28 |U502C-0029 LLlanba 16x30x3 3
29 |U502C-0030 Lllanb6a 6x18x1.5 41
30 |U502C-0031 KpoHwWTenH KpenneHua Tpoca 1
31 |U502C-0032 Lllainba 6x18x2 niactukosas 1
32 [u502C-0033 LLlanba 10x30x2 nnacTmkosas 1
33 |U502C-0034 Lllainba 8x25x2 niactukosas 4
34 |U502C-0035 laiKa-bapawek 1
35 |U502C-0036 Bont ¢ 4-rpaHHbIM OCHOBaHWEM 1
36 |U502C-0037 LLlali6a KBagpaTHas c UKcaTopamm 1
37 |U502C-0038 MpyXunHa 1
38 |U502C-0039 BuHT M8x20 c oTBEpCTMEM 1
39 |U502C-0040 Bont M6x15 c otBepcTmem 1
40 |U502C-0041 Lllanba M8x1.5 2
41 [U502C-0042 lalika M8 ¢ N1IacTUKOBbLIM CTOMOPOM 1
42 |U502C-0043 lalika M6 € N1aCTMKOBbIM CTONOPOM 19
43 |U502C-0044 bont M6x16 1
44 |U502C-0045 Bont M6x25 1
45 |U502C-0046 bont M6x20 4
46 |U502C-0047 Bont M6x45 4
47 |U502C-0048 bont M6x40 2
48 |U502C-0049 Bont M6x65 4
49 |U502C-0050 bont M6x70 2
50 |U502C-0051 Lllanba 10x16x1.5 1
51 |U502C-0052 LnanHT 4x50 2
52 [U502C-0053 WnanHT 3.2%25 2
53 |U502C-0054 LWnannT 3.2x40 1
54 |U502C-0055 LnanHT 2x25 2
55 |U502C-0056 LLIKana gosartopa 1




	Копия артикулы запчастей для разбрасывателя 45-0502C производства РУ.pdf



